How to build a Kids Don’t Float Loaner Board

- Samples -
Free Standing Board
Easyas1-2-3
KIDS DON- & !
1. Attach poster to plywood board
L Add dowels to the bottom for hanging PFDs
3. Securely nail board against wall

e —
CGive Them Some thing that Does, |
a Personal F It tation Device (PF 13§

Materials needed for a stand-alone board:

2-4"x4" x 10" (all 2x4 and 4x4 lumber is pressure treated)
3-4"x4"x47" (totaling 3 -4" x 4" x 8")
1-2"x4" x 47"

2-2"x4"x44"

2-2"x4"x37" (angle cut for roof, see drawing)
4-2"x4"x 15" (angle cut for roof, see drawing)  (totaling 3 -2" x 4" x 8')
1-25"x48" x 3/4" (plywood for Kids Don’t Float sign)

(all plywood sheets can be cut from one 4x8x3/4 sheet)
2-24" x 48" x 3/4" (plywood for roofing)

4-10"x 1" (dowels for hanging life vests)

(additional dowels can be offset in backside)

12 - 3/8" x 6" lag bolts

1/2# - wood screws for fastening roof trusses

1/2# - wood screws for fastening roofing sheets

**See next pages for actual building plans



R

< 37117 (outside dimension) -

B B T B A 000 a0 080 60 U A e e e et B e e B e o e

wall

Y.

«1°6 1"
(—

2w



DA O A

4!_6.‘!
< 3-117

6 5 yzn_ 150”_19093__15099 _5 %”9

100"



i S 8 B[y 6% Tagbults
(can be counter sunk %™

i .. V2" recess (dado joint)

1" dowels for hanging life
i i vests

AL

Yol



Kids Don’t Float Loaner Board

Wooden Boxes (Style “C”)

Contact People: S.E.A.K. Women in Fisheries
Mary Todd Andersen 747-8747
Ruth McMaster 747-3523



Wooden Boxes (Style “C”)

. =2 T e Materials:
] i B %” Pine
U 3/8” Plywood

Shingles for roof

.Dm 77,5 | %
I_LMRH /}\ |
) T ar
N N JJI= 540(‘—
wé’“‘)
7 W
|""“"'"‘""'“"""‘""40""‘" g § r:i E[:
e gy i el ¢
™
6/1:.# - '
View 1&% ‘
Y — I ‘WV"—}

Hoots INS10¢



53%" -

Kids Don’t“Float Loaner Board

Aluminum Boxes (Style “D”)

Designed by Allen Marine Inc. Sitka, AK

L = = o]

13”




Kids Don’t Float Loaner Board

Aluminum Boxes (Style “D”)

Materials
4 Boxes
12-86” Long, 2-3” rectangular aluminum tubing (if lengths are longer, more can go into the ground).
14 Bags Redi-Mix Concrete (1 % bag per hole)
27 3/8 x 3 ¥4 bolts
27 nuts
27 lock washers

For Crescent Mounting:
Add: (6) 3/8 x 12” lag screws
(6) 3/8 washers

For mounting supts into 12x12 Bullrail 1

2 — | 2 |

_'r T -

SIJPFIJRTS TO BL 3" RECY TYBING W/3/8
FASTENERS LOCATED AT B LOCATIONS UN
86" Eﬁgl POST. A "
Contact People:
0 e v Mary Todd Anderson
747-8747

GRADE ‘

—! Ruth McMaster

D 18* CONCRETE D D 747-3523
PEPTH ﬂ




SAMPLE




SAMPLE




SAMPLE

. -
¥ Fs: ¥ ---\.-r|‘||.|l;-. |1 N |

inwr W heans - Nanam i s
Liferjuchkaet Liamey b | ‘ -

AN ieinms

s







